@ FELICITATIONS !
Nous nous sommes efforcés de vous fournir un produit unique de ASSEMBLY PART L'ST I LISTE DES PIECES

Y ®
qualité supérieure. Merci d’avoir choisi le chariot Clicgear.
C|'c9c.°r IMPORTANT LISTE DER BAUTEILE | LISTADO DE LAS PIEZAS
Avant de commencer a utiliser votre nouveau chariot Clicgear, veuillez

vous assurer de lire et de comprendre les avertissements et
instructions importants contenus dans ce guide d'utilisation.

USER GUIDE ENGLISH (

‘; |
GUIDE D,UTILISATION FRANCAIS POURVAO\'ILEFi;I;’RfSSEExE:LILEZ VOUS ASSURER DE
HANDBUCH DEUTSCH e U RmATIon A FoRTEE DL ANAPN O POBIOR
GUiA DEL USUARIO ESPANOL VOUS Y REFERER PAR LA SUITE.

Ce chariot n'est pas un jouet. Il est congu pour étre utilisé par un adulte
uniquement.

~N

Ce chariot n'est pas congu pour étre utilisé comme une poussette.

EVITEZ LES BLESSURES en respectant strictement les instructions de
pliage a chaque fois que nécessaire.

EVITEZ LES BLESSURES en restant a distance des piéces mobiles lors
du réglage, du pliage ou du dépliage de ce chariot.

Assurez-vous TOUJOURS que ce chariot est entiérement déplié et
verrouillé avant de I'utiliser.

Assurez-vous TOUJOURS que ce chariot est correctement replié et
verrouillé avant de le soulever ou de le transporter.

Utilisez TOUJOURS le frein lorsque vous immobilisez le chariot et
assurez-vous que le frein est correctement réglé.

NE PAS courir lorsque vous utilisez ce produit.

NE PAS utiliser des accessoires autres que ceux congus pour étre utilisés
avec votre chariot Clicgear.

CONSERVEZ tous les emballages hors de portée des enfants et
recyclez-les lorsque cela est possible ou lorsque la loi I'exige.

. J

GI3 GRATULATION!
Wir haben keine Miihen gescheut, lhnen dieses wirklich einzigartige
und ausgesprochen hochwertige Produkt anbieten zu kénnen.
Vielen Dank dass Sie sich fiir Clicgear entschieden haben.

MODELO
ODELL WICHTIG
M Bevor Sie lhren neuen Clicgear Cart das erste Mal benutzen, lesen sie
MODELE bitte die folgenden Hinweise.
MODEL )

( £\ WARNUNG

ZU IHRER EIGENEN SICHERHEIT: LESEN SIE BITTE DIE
FOLGENDEN ANWEISUNGEN UND BEWAHREN SIE DIESES
HANDBUCH ZUR KLARUNG SPATERER FRAGEN UND PROBLEME
SICHER AUF!

Dieser Cart ist kein Spielzeug und nur fiir den Gebrauch durch
Erwachsene bestimmt.

Dieser Cart ist nicht zur Verwendung als Kinderwagen geeignet.

Vermeiden Sie Verletzungen indem Sie sich stets and die
Gebrauchsanweisungen halten.

WORLDWIDE PRODUCT SUPPORT

Clicgear products are sold worldwide through our distribution

N ” o9 X ® Vermeiden Sie Verletzungen indem Sie lhre Hande von den
partners which are the representative distributors for their beweglichen Teilen fernhalten wihrend sie den Cart justieren,
countries. Therefore specific warranty coverage may vary due to zusammen- oder ausklappen.
legal rEqU|rementsl n 'vndW'dual Cou'mnes' However’ Cthear_ !S ® Versichern Sie sich stets, dass der Cart vollsténdig ausgeklappt und
committed to keeping its carts working. If you require a specific gesichert ist bevor Sie ihn benutzen.

part or have a problem with an older cart, we want to take care of
you. The best way for us to do that is for you to contact the
distributor for your country through our website:

Stellen sie sicher, dass der Cart vollstédndig gefaltet und gesichert
ist, bevor Sie ihn hochheben und transportieren.

Benutzen Sie immer die Bremse, wenn Sie den Wagen abstellen und

I ° versichern Sie sich, dass diese richtig angezogen ist.
:.’; mmw.c lcgenr.com @ Rennen Sie nicht mit dem Clicgear Cart.
x ® Benutzen Sie kein Zubehor, das nicht fiir den Clicgear Cart
2 entwickelt wurde. @
~ @ CONGRATULATIONS! ° H“alten Sie das YerPackungsmaterial von Kindern fern und recyceln
Every effort has been made to provide you with a unique and high \_ Sie es, wenn méglich. Y,
quality product. Thank you for choosing the Clicgear Cart.
IMPORTANT - o . 1 Qtt/ . . g e [ Qtt/
!
Before you start using your new Clicgear Cart, please read and ? I:EI;ICITAClOI\fIES- | oo Part / Pieces Description / Description %txza?\l I Part / Pieces Description / Description QAtxza?ml I
nderstand the following important instructions and warnings € ha hecho un gran esfuerzo para proveerie un producto unico i 1 H incio " i i i incio .
e e uaor s, ™ instructi warning 7 de alta calidad_Gracias por olegir ol Carro Cliogear Bauteil / Pieza Beschreibung / Descripcién Cuantidad | |Bauteil/ Pieza Beschreibung / Descripcién Cuantidad
-~ ™\ IMPORTANTE . s . . .
A WARN'NG Antes de comenzar a usar su nuevo Carro Clicgear, por favor lea y P1 Main Tube / Tube PrInCIpal 1 P9 X Snap Pin / Goupllles Amovibles 4
entienda las siguientes instrucciones y advertencias contenidas Hauptrahmen / Tubo Principal Sicherungsbolzen / Pasadores Extraibles
FOR YOUR OWN SAFETY, PLEASE READ AND en esta gufa del usuario
UNDERSTAND THESE WARNINGS AND KEEP THIS USER ' N\ AXle Tube / Tube d‘AXe de roues SCreW / Ecrous
GUIDE FOR FUTURE REFERENCE: A ADVERTENCIA P2 Achsrahmen / Tubo de Eje de las ruedas M6 x 42 mm Schraube / Tuercas
@ This cart is not a toy and is designed for adult use only. POR SU PROPIA SEGURIDAD. FAVOR DE LEER ¥ ENTENDER
@ This cart is not intended for use as a baby stroller. ;Qzssé%;_Egﬁf:ﬂ/:s:ﬁ#&b\s'éggggﬁgwk LA P3 Lower Saddle Assembly / Embase support sac inférieur M6 x 69 mm Screw / Ecrous
® AVOID INJURY by always following the folding instructions : Unterer Sattelstutze / Base de Soporte de bolsa |nfer|or Schraube / Tuercas

carefully. @ Este carro no es un juguete y fue disefiado solamente para
® AVOID INJURY by keeping clear of moving parts while ser usado por una persona adulta. ’ Ari

adjusting, folding or unfolding this cart. ® Este carro no esté previsto para ser utilizado como coche P4 Upper Axle SU?pOf‘t / Support d ax.e superlleur M6 x 124 mm Screw / Ecrous

) de bebé. Obere Achsstlitze / Soporte de Eje superior Schraube / Tuercas

® ALWAYS make sure the cart is fully extended and locked ) ) )

before use. ® EVITE LESIONES siga siempre cuidadosamente las .
o ALWAYS mak the cart is folded and locked | instrucciones de plegados P5 Lower Bag Support Tube / Support sac inférieur M6 Nylock Nut / Boulons 6 mm

> make sure the cart is folded and locked properly ® EVITE LESIONES manteniendo libres las partes moviles H : i

before lifting or transporting. cuando el carro s gjustado, plegada y desplegado. Untere Taschenauflage / Soporte de bolsa inferior M6 Nylock Mutter / Tornillos de 6mm
©® ALWAYS use the brake when parking the cart and ensure it is @ SIEMPRE asegurese que el carro esté completamente L. .

adjusted properly. extendido y trabado antes de utilizarlo. P6 Upper Saddle Assembly / Embase support sac supérieur Umbrella Tube / Attache De Parapluie
® DO NOT run while using this product. o SIEMPRE asegirese que el carro esté plegado y trabado Obere Sattelstiitze / Base de soporte de bolsa superior Regenschirmhalter / Sujecion De Paraguas

) ) correctamente antes de levantarlo o transportarlo.
@ DO NOT use accessories other than those designed for use

with your Clicgear Cart.

SIEMPRE utilice el freno cuando estaciona el carro y
asegurese que esta ajustado correctamente. P7

Handle Assembly / Kit de Poignées Cup Holder Plus / Porte Boisson

P
b
o
<
>
=
o
<
\'
P
3
S
3
x
W
S
=
2
@
>
(2]
=
o
8
>
Py
2
2
= Griffrahmen / Kit de Empufiaduras Getrénkehalter / Porta Bebida

0
>
(%)
m
S
o
-
S
X
3
®
o
m
©)
)
>
(%)
X
<
g
X
)
m
B
2
X
m
©)
X
=
©)
P
m

KEEP all packing materials away from children and recycle
where possible or where required by law.

NO CORRA mientras utiliza este producto.

J

NO utilice otros accesorios que no fueron disefiados para

su carro Clicgear. Wheel Assembly / Kit de Roues

MANTENGA los materiales embalados fuera del alcance de Seitenrader / Kit de Ruedas
los nifios y recicle donde sea posible o donde la ley

Copyright © 2015 Clicgear Industries (Hong Kong) Ltd.
Clicgear is a Registered Trademark of Clicgear Industries Ltd.
All Designs are Patented or Patent Pending Status Worldwide. > a
Clicgear Reserves the Right to Make Changes to the Product. \_ asi lo requiera. Y,

2
5)
R
>
2
<
m
2
»
>
S
S
m
4
P
m
0
3
S)
2
o)
T
8
=
=
-
~<
R
=2
=
2
m
>
0
o)
m
(72}
]
o)
)
m
(7]
-
o)
X




